Please solve problems as simply as possible with step by step solution without skipping steps and give answer.  Note, some answers are given to confirm.  Explain answers.  
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[0 save fuel, some truck drivers try to maintain a constant
speed when possible. A truck traveling at 99.0 km/hr ap-
proaches a car stopped at the red light. When the truck is
103.6 meters from the car the light turns green and the car
immediately begins to accelerate at 2.4 m/s%. How close does
the truck come to the car assuming the truck does not slow

down?

I

Tries 0/99
How far from the stop light has the car iravelled when the
truck reaches its closest distance?

Unit: m

Tries 0/99
Answer for Part: 14
9.582E+01 [93.4241589506173,98.2151414609053] Ssig 3 - 5
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Answer for Part: 16
7.780 [7.58584104938271,7 .97485853909465] Sig 3 - 5





